C<HAHFENYT F20 RREVEY v NH—-3FEKRR

(5188 78GR ) ER27E12858 (1)
EEILAR -5
ATJOvD z B ®RO7241Y REIET | MILRIILB| B M || B | 8% | 1B
zZ B ® 0-2|05-0[|0C2-0|® 0-26 6 -1 3
®O7712 O 2 — 0 O5-0|0 4-0|®@ 0-1 9 10 2
ANk @ 0 —5 (@ 0 -5 A 2—-2|@ 1 -5 1 -14 1 5
mMWRZIIB|le 0 -2 |@ 0—-4 (A 2 -2 ® 014 1 -10| 4
E ® |[O6-0]|O0O 1-0[O5-1]0 4-0 12 15 1
HPATEREE LR 799N
BJOwZ ||&ERYMCA (B Fo03RA  [BERYMCA (W) |[EVFaU—-Al o B BSWETE NEfez
=EYMCA (B) ® 0-3|® 0-6 3
9954 O 3 =0 ® 0 -2 = 2
ZEYMCAW IO 6 —0 |0 2 -0 1
YFa)—A O 3-11017-0 1
Wy a b [ ® 1 -3 O 5 -0 2
BIEHTE ® 0-7|® 0-5 | 3
IBEREE | (@D ZEYMCA (A) 12 — 1 oy B FeO3RAF 18 — 1O tEVFaU—A
SRBSE Z=EYMCA (A) 5 — 1 FHHTAAE Q@ =ECA B 8 — 0 BT
RIEEHREY 98
CcCJOwvo i) 23] WY TUTREF E B =RYY = £ ROF7 v | NEfi
T @ ® 0-1]0 1-0 2
Wy RH O 1 -0 o 2 -1 = 1
r ¥ e 0-1|®@ 1 -2 3
=B ) ® 0-4]|® 0-3] 3
5 B b/ [ O 4-0 A1 -1 1
207wy b O 3-0|a 1-1 | 2
IEFREE | @D W woikkH 1 — 3 RUTvbh T H 0 -2 a7 %
SRAEE ATy bk 2 — 1 5 % © F # 0-0 =Rt
HPAMEREEI LR 799N
DTJOwD || YATL-Y ¥ 85 3 5 M ZREMN | gYFaU—B| MILARIIVA || IEfI
YATLU-Y v O 1-01|a 1-1 2
58 5 |@ 0-1 ® 0 -3 = 3
& ™ a4 1-1|0 3-0 1
=Rl ) O 4-0]@ 1 -2 2
YyFaU-B b 1 ® 04 ® 0 — 14 3
RILRZIVA O 2-1]1014-0 | 1
IEfRES | =& ®H oo — oo HREBEHM JATL-Y v 3 — 4 RILARZJLA
RS & W 1 —3 HRLRZJLA © E B 1 -0 tvFa1)—8




KRBV -Ih-

EJOvD B W D.S.Shiki N % De® TAN' I 2480 || Bssm | 85k | IBhI
B W O4-1|06-0|® 0-3[O0 6-0 9 12 2
DSShiki |@ 1 — 4 O4-1|@ 0-4]0 1-0 6 -3 3
N ® | 0-6|@ 1 -4 ® 0-6|@® 1 —2 0 | -16] 5
D&s#H (O 3-0|0 4-0|0 6-0 O 8—-01{ 12 | 21 1
ANV 245 |®@ 0 —6 |®@ 0—1]|]O 2—-1|® 0 —38 3 | -14| 4
ZREIyM -Ityh-
FJOwvwD YFRR7Y0 Bxrh Y21TILR B8 x B =F0#RE gz
YF&=ETY0 O14-0|0 2-0 1
Bx/F (@ 0 — 14 ® 0 -9 = 3
YaT)ILR (@ 0—2 (O 9 -0 2
W8 ) @ 0-1]0 5-0] 2
x B b D O 1-0 O 3-0 1
=F0#RE ® 0-5>|@®@ 0-3 _13
IBRRESE: | YFER7TIO 1 -0 BMO% CaI)R 1O —18a X B
SRASEL YFERT/N o —0 x # © Ex7E 1 =2 =M#HE
AFIAR -YVh-
GJOoOvo £ B BSWEM [NI74-9 £F| SANTO x # S | Bk | IBfI
R ® 0-6|® 0-4]0 4-1|0 7-0 6 0 3
BSHEM O 6 — 0 O 4-2|0 7-0]|O010—-01{ 12| 25 1
N7« 48O 4 —0 |@ 2 — 4 O 6—-0|0 5-0 9 13 2
SANTO (@ 1 —4|®@ 0—-7|® 0 —6 ® 1 —2 0 | -17] b5
5 # |@e 0-7|® 0—-10|® 0—-5|0O 2 —1 3 | -21 4
TR EBFRE) 9
HOOwv?D (| E®RIFESDE| = & X LEEE | EMEHE= S | Bk | IBfI
ERFEEDOR O 4-0|a 2-2]08—-1[O0 1 -0/ 10] 12 1
h B (| 0 -4 ® 0-3|07-0|0 3-0 6 3 3
XE®™m (A 2-2]0 3-0 O1-0(O0 2-0{ 10 6 2
wHEBsyE(le@ 1 -8 |@ 0—-7 |@ 0 —1 ® 0 -2 0 [-17| 5
Ef$E= @ 0-1|®@ 0-3|®@ 0—-2(0 2-0 3 -4 4




c<HAHRFENZ2 B20 RR|DPFHH—IFERR

FR27%F12A6H(H)
(5288
- RREHREY 798 AD—+h hREHFAE) 798 BI3—h
PO 1 Eepdl PUN 4 Eepdl
1| 93 (a1 @ & — xEm H2[ ¥EE% e DEE  —  &Oomva Agf SBREO
2| 10:00 |G2 war-sm  —  gaweam B1| BERD Ry gypspar  —  YFxmsvm Fi| RERO
3 10:30 |c1 zoFwr  — X B F2| BERO G mmam 0 - 0 & B c2| 'BEEO
4 11:00 |E2 B W —  Au~=pA DI BEED Iy = o — reeor Hi| 2BEHO
5| 11:30 |®DARs — @AB| AE |©BBE — @BREs| AE
6| 1200 [vAm — oas| %5297 [oBa — @Bg| %5597
7| 1230 [@Am — @Al Am |oBH — @B A
8| 1300 |@AS& — @Ag| HEED Iape - @Bg| *=AEP
9| 13:30 | ZLURY— — LEF—L TLUFY— — LBF—L
10| 1400 (GA& — @AR| Fi |GBH — @B&| Fi&B
111 14:30 ILUF)— — HFF—L| ILUF)— — LFF—L
12| 1500 |®ARE — @AB| A& |GBE — @BE:| AHER
9. ORIV FY=vF HABM(125—35—125)
Righ—1%x>~
A71L—2 (AD2—I~) |
@A
A
®A @A
FDA—‘ F@A—‘ F@A—‘ F@A_‘
Al H|2 6|2 Bl cl1 Fl2 E|2 D|1
E @& REBR NT—7%EE RRYMCA(A)  R7Fwb X I B8 W RILRZILA
e e
B7I1L—2 (B2—I~) |
@B
1B
®B @B
@B @B 3B @B
EL AL BL FL 6‘1 GL DL HL
DaMB ®&O773 T2 YFERT/D BRER & B m m  EiRFEoR
L e e




<<HAHiEN-Z F20 RRJ|RPFN—IFERKS

Epk27FE12A58 (L) ERILAR—Y 8 —
BRI RR—YtEE— Aa—Fk ABILRR—Yt4— Ba—hk
" ¥ B &4 50 ® &4
1 9:40 |A1 &R & 0 — 2 ®omay A2|2HAB|GI £ B 0 — 6 BHERM G2|2K4H
2 10:15 |A3 Kigdt®H 2 — 2 #u~=uB A4|#RUBHI|G3 e 6 — 0 SANTO G4 [#&YzH
3 1050 (A1 & & 0 — 6 = M AS|#UBH|GI &£ B 7 — 0 %k # G5[RYUEH
4 11:25 |[A2 ®oomay 5 — 0 KiEdeE A3|#RUEH| G2 BEHER 4 — 2 mw-vzm G3 [RUEH
5 1200 |A4 fus=ne 0 — 4 E I A5[#UZEH| G4 SANTO 1 — 2 Kk # G5|#HRYEYH
12:35 7N 7N
6 13:10 [A1 & & 5 — 0 XiEh#H A3[#RUBH|G1 £ B 0 — 4 mweszm GI[#RYEH
7 13:45 [A2 ®oomay 0 — 1 B M A5 |#UBH| G2 BEER 10 — 0 %k # G5[RYUEH
3 1420 |A1 & & 2 — 0 #n~=ne A4|8UYBHI|G1 &£ BI 4 — 1 SANTO G4 |®RUZEH
9 14:55 |[A3 Kigdt®H 1 — 5 = 1 A5|[#RUBHI|G3 mesem 5 — 0 K & G5[RRYEH
10 15:30 | A2 #®oOomay 4 — 0 Kus=us A4|RYEH G2 BHER 7 — 0 SANTO G4 |#RUEH
AJOvyy  |a1 R & |A2 &0V A3 KiEE | A4 RILRZLB|AS B O || B
AT 7 & ® 0 —2 O 5—0 |10 2-—-0 ® 0 —6 3
A2 &O7702y | O 2 — 0 O 5—0(0O 4—0|@®@ 0—1 2
A3 KiEit% | @ 0 — 5 ® 0—5 A 2 — 2 ® 1 —5 5
AM RLRZ)B|@® 0—2 (@ 0—4 |A 2 —2 ® 0 — 4
A5 B OB O 6 —0 O 1—-—0 |0 5 —1 O 4-—-0 1
G7avyY |a1 £ B (G2 EWER |63 N4 G4 SANTO |[G5 %k # || JEM
Gl £ B ® 0 —6 ® 0—-4 |0 4—1 O 7-—-0 3
G2 BWERK |O 6 —0 O 4—-—2 |0 7—0]|0O1W0—-0 1
GINMT(—7%E| O 4 — 0 ® 2 — 4 O 6—0 |0 5—0 2
G4 SANTO ® 1 —4|@®@ 0—7 |@®@ 0—6 ® 1 —2 5
G5 %k # ® 0 —7 ® 0—-—10|@® 0 —5 O 2 —1 4




S<HAHiEN2 F20 RRJ|RPFN—IFEKS

TERt27412A5H(T) [ EREBLEISIF
EELHARTIVUR Aa—b EELHARYIIVUR Ba—+
e %t ¥ 4 st ¥ =4
1 9:40 Hi t#xz0r 4 — 0 EH & H2|2&&B|Cc1 T H 0 — 1 wox C2|2H&H
2 10:15 |H3 =/ 1 — 0 s#=e-s Ha|gumslcs zpeLyy 0 — 4 B B o5|&yEYH
3 10:50 |H1 tszzor 1 — 0 EHE= H5[#&YBH|ct T BH 1 — 0 F B C3|KRUESH
4 11:25 |H2 E & 0 — 3 XER H3|RUEBH|C4 TRt 0 — 3 RUTUh C6|HRUEH
5 1200 |H4 smze-e 0 — 2 BHEZ H5|RUBH|C2 womr 2 — 1 F B C3|RUEBH
12:35 RE c5EF B 1 — 1 RUTUL C6[HRUBEH
6 13:10 [H1 twzor 2 — 2 XK EF HI3[KRYEH {REE
7 1345 |H2 & & 3 — 0 EHFE= H5|[HRYEH|al womsr 1 — 3 RVTvb b2 | @ EH
8 14:20 | H1 t#zEzor 8§ — 1 s#mzess H4|[#UZEF|a2 T H 0 — 2 & % bl |DEH
9 1455 |H3 XEE 2 — 0 SEHFE= H5|HRYEH|a3 F H 0 — 0 RBEtUY b3 | @ FH
10] 1530 |H2 E & 7 — 0 ##ze-s H4|RUBH|oB 2079 2 — 1 & 5 o ©FH
HZOvY |HI tHFEDFK|H2 F O (H3 XE® |H4 SHEBrE(HS SHE= | JE
HT EEE0E| O 4—-0|A 2—-2|0 8—1]|0 1 -0 1
H2 & % |® 0 — 4 ® 0—-3 |0 7—0 |0 3-0 3
H3 X®E®m |A 2 -2 |O -0 O 1—-—0|0O 2—-0 2
H4 SHEBrE| @ 1 — 8 | @ -7 1@ -1 ® 0 — 2 5
H5 EH¥= |@® 0—1 | @ -3 | @ —2 |10 2—-0 4
a7nyy T ® TNV TUTREH E B 5 |exazmeEt] IER
1|ct T H ® 0—1 [O 1 -0 3 o] 2 3
2 |C2| WTRHF |O 1 — 0 O 2 —1 6 2 1 3
3|c3 O ® 0—1 |@®@ 1 —2 0 -2l 3 5
b 7'avy =Rty = B 25Tk | B & |@kmE|meE] Bk
4 |cal ZERuLYY ® 00— 4 |@®@ 0—3 0 =71 3 5
5|C5 T % O 4-—-0 A1 — 1 4 4] 1 2
6 | C6 ROTY O 3—0[Aa 1 —1 | 4 3( 2 1
NE 32 3R 7E B
2 L
7 0 2 o @ o
al b2 a2 b1 al b3
I TUTRRH ATk T H a5 B OB =RtV




S<HAHiEN2 F20 RRJ|RPFN—IFEKS

TR27412A58(1) | FRETYME— LY 58—
_— ZREIJYNR—ILEVE— Aa—b+ | EREIVYNR—ILEVA— Ba—h
S, =]
xt 474 ¥ *t g =¥
1 9:40 E1 88 1L 4 — 1 DSShki E2|2&B|F1 vr=8m 14 — 0 HEE~¥E F2|2H&R
2 10:15 |E3 /A % 0 — 6 DEH E4|#®UEBH|F4 & B 0 — 1 X I F5|8®YEH
3 1050 |E1 B 10 6 — 0 7avwzsm E5|#YBH||F1 vrRE?A 2 — 0 PaTLR F3|#RUEH
4 11:25 |E2 DSShiki 4 — 1 7N 5 E3|#VUEBH|F4 & 1B 5 — 0 =MEH F6|KYEH
5 1200 |4 D& 8 — 0 7aivzEm E5|[fRYEBH||F2 EEYE 0 — 9 PaIir F3|#UEH
12:35 ARE F5 X ¥ 3 — 0 =fi#E F6|&YUBH
6 13:10 |E1 # U 6 — 0 /X £ E3|#YEH Ly ]
7 13:45 E2 DSShiki 1 — 0 7z2wzaxs E5[RUBHI| a1 vrzgsm 1 — 0 BT 18 b2 | @ T/H#
8 1420 |E1 8 U 0 — 3 D& H E4|#8UEBH| a2 vazir ; P_K 23 X H b1 | DEH
9 1455 |E3 KA & 1 — 2 7awnzem E5|RYUESH| a3 BEEYE | — 2 =HEMA b3 | ©® B
10| 15:30 |E2 DSShiki 0 — 4 D& H E4|®RUBH|om vvrrim 5 — 0 X I oml @ &N
EJOvys |e1 # WU [E2 DSShki |E3 AN £ |E4 DEH |E5 TAANTALE IEA
E1 A W O 4 —1 O 6 —0 ® 0 —3 O 6 —0 2
E2 DSShki | @ 1 — 4 O 4—1 |@®@ 0—4 |0 1—0 3
E3 NOE ® 0 —6 ® 1 — 4 ® 0 —6 ® 1 — 2 5
E4 D& H O 3—0 O — 0 O 6 —0 O 8 —0 1
E5 FAAWA4E) @ 0 — 6 | @ -1 10 2 —1 ® 0 — 38 4
a7'ny) YFERRTYA ExX7RE DaTILR | B R [BRRE(wEIEG JER
1| F1 YFERTYA O14—-—0|0 2-0 6 16 1 1
2 | F2 BEEXTR ® 0 — 14 ® 0 —9 0 -231 3 6
3|F3 CATIR ® 0—2 10 9—0 3 71 2 3
b 7°nv4 B 18 x B =H#MA B A |BkaE|wmeiEs| IER
4 | F4 B B ® 0 — 1 O 5 —-0 3 4 2 3
5| F5 x B O 1 -0 O 3—-0 6 4 1 2
6 | F6 =& H ® 0—-—5 |@®@ 0 —3 -8 3 5
& {32 3 7€ 5%
1
5 |0
1
1 @ 0 15 ’16‘ 1 ©) 2
al b2 a2 b1 a3 b3
YFRERTYO B B TaTIIILR x = BEETR =FsMA




S<HAHFENYZ F2Z2E RRIZ

A 3FERE

ER27F12A58(L) || FmREBLERSSIUR
- HErm R ESLAEI ZV0F  Aa—Fk HErmRESLAEIZV0F Ba—bk
T 4 B =4 4 B =4
1 9:40 Bl z=rwea® 0 — 3 Fv93#&k B2[28&B|D1 wavvx 1 — 0 E B D2|2#&R
2 10:15 [B4 w7av—a 3 — 1 4 K B5|#YEH|D4 ZREM 4 — 0 wv7av—s D5[HRUYEY
3 10:50 |B1 m=awca® Q — 6 xmeweaw B3 |[#RYUFHI[D1 wast+r 1 — {1 & ™ D3|#HRUEH
4 11:25 |B4 t>7av-a 7 — 0 BEHE B6|LYUFHI|D4 TEREM 1 — 2 HRux=na D6 |[#RYEH
5 12:00 |B2 F495%xF 0 — 2 saweaw B3|suzmulpe E 2 0 — 3 & ™ D3|kumEy
6 1235 |Bs #8v B 5 — 0 BEBHHE B6|HKYEH D5 tv7av-8 0 — 14 ®u~=1a D6 |#RYEH
13:10 REE KR8
7 1345 |al zaworw 12 — 1 #&45 H b2|OFH||a1 & (2) P_K ? ZREM b2 | @ B
8 14:20 | a2 Fe97%ab :13 F; ; werau—a bl | D BE | 22 war-vr 3 — 4 Huxzia b1 | D T
9 14:55 | a3 zawo® 8§ — 0 BEHE b3|@FH||a3 E 5 1 — 0 =7au-8 b3 | ® FH
10| 15:30 |[@8 zaweaw 5 — 1 F952A OB @ BH | & M 1 — 3 tus=ia @B @ BH
azmy ZRYMCA(B) ERVAZINY RERYMCAA) | B R |BEmZE|WEEt| IEAL
1 |B1| RRYMCA(B) ® 0—-3 |@® 0—6 0 -9 3
2 | B2 EAVFEYS O 3-—-0 ® 0 —2 3 11 2
3|B3| EBYMCAA) |O 6 —0 [O 2 —0 6 8 1
b 70y ToFal—A | BrE BHHE | B A |@kaE|meiRh B
4 |B4| EVFaU—A O 3—1 |0 7-—-0 6 9 1
5 |B5 By R ® 1 —3 O 5—0 3 3 2
6 | B6 BEWEE ® 0—7 |® 0-—5 _ 0 -12] 3
a7'nyy JVATL=Y% E B =] B R |BEmZ|HEIR B
1 |D1| YLATL—V'% O 1t —01]Aa 1 —1 4 11 2
2 | D2 E B ® 0 — 1 ® 0 —3 0 -4/ 3
3 |D3 & A 1—1 |0 3—-0 4 3 1
b 7'y =EWA | £oFaU—B | RILA=ILA | B & |SRaz|meEs] B
4 (D4 =REM O 4—-—0 @ 1 —2 3 3 2
5|D5| t~Fa)—B | @ 0 — 4 ® 0 — 14 0 -18| 3
6 [D6| KLR=Z)LA |O 2 —1 [O 14 -0 _ 6 151 1
N 32 3R 7E Bk .
5 1
| ; .
12 @ 1 13 12 8 0
02 or 3 4 1 0
al b2 a2 b1 al b3
ZRBYMCA(A) By R Fvh7% Ak tUFal)—A FEERYMCA(B) B E
& REEHM JLRTL—V'% RILR=JLA E 5 > Fal)—B




